
www.ronixtools.com

POWER TOOLS

6112V
Electric Polisher 1400W



www.ronixtools.com

POWER TOOLS

Number Name

1 Wind Baffle Ring

2 Bearing 608

3 Creepagebaffle ring

4 Rotor

5 Screw M8×20

6 Gasket

7 Axiliary ring handle

8 Bearing clamping cap

9 Bearing 6201

10 Head case

11 Screw ST1.8×35

12 Self-Locking Cap

13 Self locking pin spring

14 Screw M5×16

15 Screw M5×12

16 Self locking pin

17 Bearing HK081210

18 Bearing affle fing ø12

19 Large gear

20 Hole baffle ring ø32

21 Front Cover

22 Screw M4×16

23 Dust Cover

24 Output Shaft

25 Polishing Wheel

26 Semicircular key 412

27 Brush holder Cap

28 Electric brush

29 Brush holder

30 Big mark

31 Stator

32 Screw ST4.8×70

33 Frame

34 Small mark

35 Left handle

36 Cable sheath bond

37 Cable

38 Cable clamping plate

39 Screw ST4.2×18

40 Right handle

41 Straight speed switch

42 Rivet 2×10

43 Small spring of switch

44 Speed switch

45 Nameplate

6112V
Electric Polisher 1400W


